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L

Briefly discuss the pitfalls of faulty economic analysis.
2. Define Price Elasticity of Demand and discuss its determinants.

3. Following is the production possibilities of India and Sri Lanka for producmg Crlcket Balls and
Tennis Balls respectlvely

Country Cricket Balls per | Tennis Balls per
worker per hour worker per hour

India 4 = Sle 4

Sri Lanka ¥ k 2

a) What is the opportunity cost of producing botﬁ“the'”balls‘by both the countries?

b) Which country is having absolute advantage in producmg cricket ball and which one isin
tennis ball?

c) What will be the total output if there isno trade and if trade takes place depending on the
specialization?

4.  The demand for product X is represented by the following equation:
Py=25-0.5Py+0.125 Ox

where, Py and Py represents the per unit price of X and Y respectively, and Qy represents the
demand of X.
The initial price of the pro’ductaxv and Y is Rs 15 and Rs 6 per unit respectively. Calculate:

a) The demand of X iftheprices of both the products are increased by 20%.

b) The cross elasticity. between X and Y at both initial and new prices. Comment on the

relationship between the two products also.

5.  The demand equation for a product is Q = 1000 — 50 P.
a_)‘ At what rate of output, will TR be maximum?
b) The current price is Rs 12. In order to increase total revenue, should the price be increased
or decreased? Explain.



